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Les diviseurs de 2024 sont 1,2,4,8,11,22,23,44,46,88,92,184,253,506,1012,2024

On en déduit que a    = - 8
2024
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# Dm3_ExoFamilleSommable2223.py

01| 
02| 
03| def I(k):
04|     L=[]
05|     for i in range(1,k+1):
06|         if k%i==0:
07|             L.append([i,k//i])
08|     return L
09| 
10| def a(k):
11|     s=0
12|     L=I(k)
13|     for couple in L:
14|         p=couple[1]
15|         s=s+(-1)**(p-1)
16|     return s
17| 
18| for k in range(1,13):
19|    print(k,' et a(',k,') = ',a(k))
20| print('I(2022) = ',I(2022),' et a(2022) =
',a(2022))
21| 
22| # Et voici l'exécution :
23| 
24| >>> (executing file
"Dm3_ExoFamilleSommable2223.py")
25| 1  et a( 1 ) =  1
26| 2  et a( 2 ) =  0
27| 3  et a( 3 ) =  2
28| 4  et a( 4 ) =  -1
29| 5  et a( 5 ) =  2
30| 6  et a( 6 ) =  0
31| 7  et a( 7 ) =  2
32| 8  et a( 8 ) =  -2
33| 9  et a( 9 ) =  3
34| 10  et a( 10 ) =  0
35| 11  et a( 11 ) =  2
36| 12  et a( 12 ) =  -2
37| I(2022) =  [[1, 2022], [2, 1011], [3, 674], [6,
337], [337, 6], [674, 3], [1011, 2], [2022, 1]]  et
a(2022) =  0
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